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No. m e X L1134 2 L1137 O LER BIERR
1 |/hE FiR  |BREET(10BaAT) [#EET (10BqL ) |[BRHEEF (10BaAT) | BN
2 |IhNE R [BREET 0BT [HREET (10BgUT) [RHEET (10BgAT) | iR
3 [4F20 FH |BREET (0BT |[#HEET (10BqLT) |[BREEF (10BaAT) | #HiEK
4 (427> MH [REETOBUT) [HREET (10BgUT) [REET (10BgAT) | iR
5 |#f BE |[HREET0BUT)|HREET (10BgUT) |[HREET (10BgAT) | HiERK
6 [#f BE |[HREET0BUT)|HREET (1B T) |[HREET (10BgAT) | HiERK
7 [ARFv BE |[HREET0BUT)|HREET (10BgUT) |[HEET (10BgAT) | WBiERK
8 [hRFv A [REEFT 0BT [HREET (10BgAT) [REET (10BgAT) | iR
9 [F/2(7H7) G| FH [HHEHET(10BqUT) [HEHET (10BqlAT) [#HE T (10BgLATT) | iR
10|F/a((/nH)ED | SR |BRHEET (10BgLLTF) 33.61 33.61 BRiE
BRES FEiR  [BREEF (0B T) [REET (10BgAT) [RHEET (10BgAT) | iR
12 |5 BE |[HREET0BUT)|HREET (10BgUT) |[HREET (10BgAT) | HiERK
13|18 PR [BEHEE9 (10BaATF) 14.88 14.88 g
14 |EDFF fEiR  |#REET (0Bl T) [REE T (10BgATF) |#EE T (10BgAT) | HIERK
15 |SDFEF HE |REET(10BLLT)|[HRHEET (10BaAT) |[#HEET (10BgAT)| HIER
16 |SDFEF WIR |BREET (0Bl T) [REE T (10BgATF) | #EE T (10BgAT) | HIERX
17 |BF fEiR  |#REET (0Bl T) [REE T (10BgATF) |#EE T (10BgAT) | HIERK
18| v HAE HE |REET(10BLLT)|[HRHEET (10BaAT) |[#HEET (10BgAT)| IR
19 [FYynt IR |BREET (0Bl T) [REE T (10BgATF) | #EE T (10BgAT) | IR
20 INFR BE |[HREET0BUT)|HREET (10BgLT) |[HREET (10BgAT) | HiERK
21 |#% FEiR  |#REET (10BalT) [REEF (10BgATF) |#EE T (10BgAT) | HIERK
22 |H% B  |BREET (0B T) [REET (10BgATF) |#HEE T (10BgAT) | HIERX
23 |239H FEiR [BREEF (0B T) [HRHEEF (10BgAT) [RHEET (10BaAT) | iR
24 [239H fEiR  [®EE9 (10BalAT) 25.60 25.60 g
25|23 H R [REEFT 0BT [REEF (10BgAT) [RHEET (10BgAT) | iR
26 |WAC AE |BREET(0BLLT) [REET (10BqAT) |[#REE T (10BgAT) | HIERX
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No. & B X L1134 2 L137 o L&E BIE 2
1 |77E BA |[BEET(25BqUT) [EHEET (25BqLTF) [ (25BqLATF) | JERIER
2 [4F27 AE |[HRHEET(25BqUT) |[HHEET (25BqlLTF) [ (25BqLATF) | FERIER
3 [MFTy AE |BREET(25BqLLT) [REE T (25BqAT) | €3 (25BqlA ) | FERGIER
4 [4F29 AE |BREET(25BqLLT) [REE T (25BqAT) | €3 (25BqAT) | FERGIER
5 A7 FH |BRHEET(25BqLLT) [RHEE T (25BaAT) |#&HE 9 (25BalA T) | FERiER
6 |B= FH |BRHEET(25BqLLT) [RHEE T (25BaAT) | #&H 9 (25BalA T) | FERtER
7 |R=E fEiR  |#REET(25BqllT) [BRHEEF (25BaA ) | €37 (25BqA ) | FERGIER
8 |&RE BE [BRHET(25BqUT) [BRHEET (25BqLT) [T (25BqLLT) | JERIER
9 |KR= ZHE [HRHEET (25BaAT) |#REET (25BqLl T) [HRHEEF (25BqAT) | FERIER
10 [&%R=E FE |#BREET(25BqLlT) [REE T (25BaAT) | €3 (25BqA ) | FERGIER
1 (%= (F0) BB [RHEET (25BqLLT) [RHEET (25BqLLT) [#RHEH T (25BalL T) | FERIE
12 4 BT [HREEI (25BqAT) |#REET (25Bqll T) [RHEEF (25BqAT) | JERIER
13 | hRFv BA |[BRHEET(25BqUT) [RHEET (25BalAT) [#RHE T (25BalAT) | IEREER
14 | hRFv BA |[BRHEET(25BqUT) [RHEET (25BaAT) [HRHE T (25BalAT) | FERIEER
15 |F/2(7243%7) MR 48.90 271.50 320.40 JERRIER
16 [F/23(734%4) fE |[BRHET(25BaLT) 48.30 48.30 JEREIER
17 x/3(724%7) | 35.10 95.60 130.70 JERIER
18|F/2(7344) ()| FH |BRHEET (25BqLLT) [#&RHE T (25BqLl ) |[#&H £ T (25BqLL ) | EAIR
19|F/2(784)E) | &R |BRHEET (25BqLLT) [#&RH BT (25BqLL ) |[#&H £ T (25BqLL ) | ERIR
20 [F/a(—FRHY=2Y)| R 101.90 412.30 514.20 JERRIER
21 |F/a(quRy L AD) | FiH  |FRHEE T (25BaLLT) [ (25BaLL ) | #& 9 (25BqlA ) | FERRIE
22 |¥/a¢uRra G | BH | FRHEET (25BaLLT) [T (25BqLL ) | #&HH 9 (25BqlATF) | FEBRIER
23 [Fra¢uor oG | BIR | BRHEET (25BqAT) 33.40 33.40 FERgiE
24 |F/a¢uRra G | BB |BRHEE T (25BalLT) [ B (25BqLL ) | #&HHE 9 (25BqlATF) | FERRIER
25 [F/auor oG | BIR | BRHEET (25BqAT) 35.30 35.30 FERgiE
26 | /2 (A /1\F) HH 138.60 534.70 673.30 JERRIE
27 |F/a(A/1\F) ik 139.30 586.40 725.70 JERIER
28 [F/a(4/1\F) =iR 24.90 121.50 146.40 JEMIER
29 [F/a(4/1\F) =R 73.60 324.90 398.50 JEMIER
30 |F/a(A/1\F) E=Licd 133.60 520.40 654.00 JERIER
31 [F/a(q/1n\F) =iR 60.70 253.20 313.90 JEMIER
2(F/aFLA0)E) | AR 53.30 217.20 270.50 FER iR
B[F/AHITVAV)| TR 516.10 1,821.10 2,337.20 FER iR
34 [F/a(HUFLA0) [ EiR 171.00 706.70 877.70 FER iR
35 [F/a(HUFLAD0) [ BK 472.70 1,949.70 2,422.40 FER iR
36 [F/a(HUILA0) [ BK 354.70 1,495.90 1,850.60 FER iR
37 [F/a(HUF240) | FIH 130.90 551.70 682.60 FER iR
38 [F/amoso) @G| BB 69.90 321.00 390.90 FER iR
39 [F/awozvad) | FHIR |[BHEET (25BqlLT) [RHE T (25BalATF) [T (25BalATF) | IEREIR
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No. & B X L1134 2 L137 I LG AT
40 |F/a(Ho7o20) G| IR 113,50 493.70 607.20 FERRIR T
INREVEICTEDZONC ] I - 5 72.80 298.00 370.80 FERRER T
42 (¥/aozo0) G| FIE  |#REE T (25BqLLT) [T (25BqALF) [ E 9 (25BaAF) | JEREIR
43 |F/amosvao) )| @ 147.50 612.00 759.50 JERE IR
44 |X/ao7040) @) FMIE  [BRHEE S (25BLTF) 26.20 26.20 FERIR
45 [F/a(FALA0) @) | BIR | #BREE T (25BqLLT) [T (25BqAF) [ E 9 (25BaAF) | JEREIRR
46 |F/a(FodoA0) | FOHE 28.00 173.30 201.30 FERRIR
47 |F/aEoaya0) @ | AR [HBEET (25BgLT) [BRHEE 9 (25BaLTF) (&£ 9 (25BqlL ) | JEBE IR
48 |F/aFrayA0) G | B[RS (25BaAT) |[RHE T (25BaATF) (&£ 9 (25BqlL ) | JERE IR
49 [F/a(\V457) AE |[BRHEET(25BqUT) |[RHEET (25BalAT) [#RHE T (25BalAT) | IEREER
50 (¥ /3 (/\VE7T) | 81.40 367.30 448.70 FERRIR
51 [F/3(GRO¥4%47) | BB |[HBEET (25BqLLTF) [EHE T (25BqATF) [ (25BaATF) | JEREIRR
52 |F/a(GR0F47) | AR 132.90 538.00 670.90 JEREIER
53 [/ (14%) biika 16.30 53.70 70.00 JERRIER
54 | Fp Y H |REET(25BqLLT) [BREE T (25BaAT) | €3 (25BqlA ) | FERGIER
55 | Ay H |REET(25BqLLT) [BREE T (25BaAT) | €3 (25BqA ) | FERGIER
56 | Y H |REET(25BqLLT) [BREE T (25BaAT) | €3 (25BqA ) | FERGIER
57 | Fr Y H |REET(25BqLLT) [BREE T (25BaAT) | €3 (25BqlA ) | FERGIER
58 [ FiH  [BREET(25BaUT) [RHEE T (25BaAT) [RHE T (25BalAT) | FEREER
59 [ZEiNE FiH  |RBREET(25BaLlT) [RHE T (25BaL ) |#EHE T (25BqlATF) | FERGIER
60 | & HH |[BRHEET(25BqUT) |[RHEET (25BalAT) [#RHE T (25BalAT) | IERIEER
61 |5 FH  [RHEET (258U T) [RHEET (25BLLT) [BRHEH T (25BalLT) | FERIE
62 | FH  [RHEET (258U T) [RHEET (25BqLLT) [BRHEH T (25BaLT) | FERIE
63 | FH  [RHEET (258U T) [RHEET (25BaLLT) [ E T (25BaLT) | FERIE
64 | B [RHEET (25BqULT) [RHEET (25BqLLT) [#BRHEH T (25BaLT) | FERIE
65 |5 BHE |BREET (25BqAT)[#REE T (25BqlAT) |[HRHE 37 (25BqLL )| FERGIER
66 |5 BHE |[HREET (25BqAT)[#REE T (25BqAT) |[HRHE 3 (25BqLL )| FERGIER
67 | BA |BHEET (258l T) |[BRHEET (25BallT) |#H €9 (25BqlA ) | FEmiE =
68 | BA |[BHEET (258l T) |[BRHEET (25BallT) |#&H €9 (25BqlA ) | JERitE=
69 | BA |BHEET (258l T) |[BRHEET (25BallT) |#&H €9 (25BqlA ) | JEmitE =
70 [ BT [REET (25BqLlT) | E T (25BqlATF) [#RHE € (25BqlA T) | JERIER
ARES BAR |BRHET (25BqAT) [BHE T (25BaLLF) |9 (25BqAT) | FER IR
72 | =K 123.40 539.70 663.10 JEREIER
73 |E RE |[RHEEI (25BqLlT)|#RHE T (25BqATF) [#RHE €9 (25BqlA T) | JERIER
74 |E ZHE |REET (25BqAT) |[BEE T (25BqAT) [t (25BqATT) | JERIR
75 | & ZHE |[REET (25BqAT) |[BEE T (25BqAT) [t (25BqATT) | JERIR
76 | & ZHE |REET (25BqAT) |[BEE T (25BqAT) [t (25BqATT) | JERIRK
AES IR |BRHEET (25BaAT) [#REE 9 (25BqlA T) |[BRHE B 97 (25Bq L ) | FERGIER
78 | & IR |BRHEET (25BaAT) [#REE 9 (25BqlA T) |[BRHE B9 (25Bq L ) | FERGIER
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No. & B X 14134 7 L137 o LEE BITE 25
79 | IR (BT (25BqlAT) (BB T (25Bqll T) [ 9 (25BqA T) | FEREIER
80 |3 AE [BEET (25BqAT)|[HEET (25BqlT) [ E T (25BqA )| FEREIER
81 |% AE |[BEET(25BqAT)|[HEET (25BqAT) [ E T (25BqA )| FEREIER
82 | A [(BREET (25BqUT)|[BREET (25BgAT) [T (25BqA )| FEREIER
83 | A [(BREET (25BqUT)|[BREET (25BgAT) [ME T (25BqA )| FEREIER
84 | FH 121.80 488.10 609.90 JERGIER
85 | A [(BREET (25BqUT)|[BREET (25BqAT) [T (25BqA )| FEREIER
86 | R A [(BREET (25BqUT)|[BREET (25BAT) [T (25BqA )| FEREIER
87 | 5 (3n) RE |BHEET (25BqAT)|HRHET (25BqAT) |#H 9 (25BqLL ) | IEREIE
88 [d— FH  [BRHEET(25BqLLT) |[BHEE T (25BaLL T) [ H 3 (25BqLL ) | JERIER
89 |/VHrZe FiH [BRHEET(25BqLLT) |[BRHEE T (25BalL ) [#RHE 3 (25BalL ) | JERER
90 [&DFF B [BRHEET(25BaLLT) [BHE T (25BaLL ) [ H 3 (25BqLL ) | JERIER
91 [&DFF BHE |[RHEET (25BqAT)|[#&EE T (25BqAT) |[BREEF (25Bql T) | FERGIER
92 [&DFF FE |[BRHEET (25BqLlT) [#RHEE T (25BglAT) |[fRE B F (25Bqll T) | FERGIER
93 [&DFHF FE |[BRHEET (25BqLLT) [#RHEE T (25BglAT) |[fRE B F (25Bqll T) | FERGIER
9 | XAy fEiR  |BRHE T (25BqLl ) [#RHE €9 (25BglA T) |[#RE B F7(25Bqll T) | FERGIER
95 | XAy AE |BRHEET (25BqLLT) [#REE T (25BgAT) |[fREE T (25Bqll T) | FERGIER
96 [V AE |BRHEET (25BqLLT) [#REE T (25BgAT) |[fREEF (25Bqll T) | FERGIER
97 [ HAE AE |BRHEET (25BqLLT) [#REE T (25BglAT) |[fREEF (25Bqll T) | FERGIER
98 [OvAAE(KDE)| FER |[HRHEET (25BqLLT)[#RHE T (25BqLL ) [#&H 9 (25BqLL ) | JEREIER
99 | &% HH [BRHEET(25BqLLT)|[BHEE T (25Ball ) [#RHEE T (25Ball ) | ERIER
100| KRE (RXTA) HH |[BRHEET (25BqLlT) |[#RHEE T (25BglAT) |[fREEF (25Bqll T) | FERGIER
101| KRR (XX Q) FRH |RHEET(25BqLLT) [ (25BgAT) |[fRE B F7(25Bqll T) | FERGIER
102| KIRE (XX Q) BHE |[RHEET (25BaAT)|[#&EE T (25BqAT) |[BREEF (25Bql T) | FERGIER
103|3¢ fEiR  |BRHE T (25BqLl ) [ (25BglAT) |[fRE B F7(25Bqll T) | FERGIER
104| 32 B |BRHEET (25BqLLT) [ (25BglAT) |[fRE B F7(25Bqll T) | FERGIER
105| 32X ZHE [REET(25BqLT) |BRHEE T (25BqLL ) [#RHE €7 (25BqlAT) | FERIER
106|F+2R AE |BRHEET (25BqLLT) [#RHEE T (25BglAT) |[fREEF (25Bqll T) | FERGIER
107|1=5 HH |[BRHEET (25BqLLT) |[#RHEE T (25BglAT) |[fREEF (25Bqll T) | FERGIER
108| =2y FRH |RHEET(25BqLLT) [#RHEE T (25BgAT) |[fRE B F7(25Bqll T) | FERGIER
10937 FH |[BRHEET(25BqllT) [RHE (25BqLT) |9 (25BqlA )| JER R
RUESS FH |[BREET(25BallT)|[@HET (25BqLLT) |[#H £ (25BqlA )| FEREIES
BAESS s BREE T (25BaLL F) [#H £ 9 (25BqLATF) [#R 97 (25Bal F) | FERE IR
12| ~¥ fEiR  [BRHET (25BalL ) [BHEE T (25Ball ) [ HE 3 (25Ball ) | JERIER
13[4 AE [BREET (25BqUT) [RHEE T (25BqAT) [RH B (25BaA ) | FERIER
14| TR BHE |[BRHEET(25BqLlT)|[BRHEET (25BqllT)|[BHEE T (25Ball T) | JERMIER
15| TR AE [BRHEET(25BqLLT)|[BHEE T (25Ball ) [#BHEE T (25Ball ) | JERIER
167 )L—~1)— EE |t (25BqlAT) |17 (25BqLL F) |t 9 (25BqlA ) | FERRIES
11| 7I—y AE |BRHEET (25BqLLT) [#RHEE T (25BgAT) |[fRE BT (25Bqll T) | FERGIER
18| FIL—y AE |BRHEET (25BqLLT) [#RHEE T (25BglAT) |[fREE T (25Bqll T) | FERGIER
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19|27 0wal)— FiH  [BRHEET(25BaLLT) |[BHE T (25BaLL ) [ H 3 (25BqLL ) | JERIER
120|78yal)— FH [BRHEET(25BqLLT) |[BRHEE T (25BalL ) [#RHEE 3 (25BalA ) | JEREER
121|7R7AR— FER  [BHET (25BaLLT) [BHE 3 (25BaLL ) [ H 3 (25BqLL ) | FERIER
122|2 =k <k FH  [BRHEET(25BaLLT) |[BHE T (25BaLL T) [ H 3 (25BqLL ) | JERMIER
123|234 HFH [BRHEET(25BqLLT)|[BHEET (25BqLL T) [ 3 (25BqLL ) | JERMIER
124|234 BHE |[RHEET(25BqLLT)|[HHEET (25BqLLT) [ E 3 (25BqLL T) | JEMIER
125|234 BT |[HRHEEY (25BqAT) |9 (25BqATT) [ H 9 (25BqLA ) | JEmE
126(239A B [BEET(25BqUT)|[BREET (25BqAT) [T (25BqA )| FEREIER
127|234 AE [BRHEET(25BqLLT)|[BHEET (25BqLL T) [#HHE 3 (25BqLL ) | JERMIER
128|230 A4 AE [BRHEET(25BqLLT)|[BHEET (25BqLL T) [#BH 3 (25BqLL ) | JERMIER
129|230 AE [BRHEET(25BqLLT)|[BHEET (25BaLL T) [#BHE 3 (25BqLL ) | JERMIER
130|230 A4 FH  [BRHEET(25BaLLT) |[BHEE T (25BaLL T) [ H 3 (25BqLL ) | JERIER
131|EONAY H |RHEET (25BqLLT) [#RHEE T (25BgAT) |[fRE B F7 (25Bqll T) | FERGIER
132|lLT R BHE |[RHEET (25BqAT)|[#&EE T (25BqAT) |[BREEF (25Bql T) | FERGIER
133|L42 R HH [RHEET(25BqLLT)|[BHEE T (25Ball ) [#RHEE T (25Ball ) | JERIER
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